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QUESTION 1

Which statement on workflows is correct? 

A. In a default configuration, a workflow must contain at least one session task 

B. A workflow can contain multiple start points 

C. In a default configuration, a workflow parameter file overrides all parameter files in underlying sessions 

D. Another workflow cannot be executed from within a workflow 

Correct Answer: C 

 

QUESTION 2

An Update Strategy transformation has the Forward Rejected Rows attribute unchecked. Which statement is correct
and true? 

A. Records that are tagged for rejection are projected downstream to the next transformation so long as the ports are
connected properly 

B. Records that are tagged for rejection are dropped and not projected downstream to the next transformation 

C. The Forward Rejected Rows attribute cannot be cleared after the transformation is created 

D. The Forward Rejected Rows attribute is only applicable when records are tagged for rejection upstream of the
Update Strategy transformation 

Correct Answer: B 

 

QUESTION 3

Regarding the Sorter transformation and assuming that Powercenter is not utilizing Pushdown Optimization, select the
statement which is correct and true: 

A. When the distinct check box is selected, every port in the sorter transformation will have the sort key selection
enabled 

B. When transformation scope is set to a value of transaction, the sorter will sort on every record in the pipeline before it
releases any data. The intermediate sort file will have markers for each transaction. 

C. If the distinct check box is not checked, the sorter will produce one record per unique key 

D. The Sorter transformation will utilize database indexes from the source database to perform the sort 

Correct Answer: A 

 

QUESTION 4
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Which of the following PowerCenter applications is browser-based in the Informatica 9.x environment? 

A. Repository Manager 

B. Informatica Administrator 

C. Workflow Monitor 

D. Workflow Manager 

Correct Answer: B 

 

QUESTION 5

Refering to the Lookup transformation, which statement is correct and true? 

A. The lookup condition defines how much memory each of the two caches will consume 

B. The lookup condition defines the fields that are used in the search of the data 

C. The lookup condition is limited to only the equal operator 

D. The lookup condition is designated in the ports tab interface via the "L" check box 

Correct Answer: B 
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